-t

How many hiding?

¥
¥ ¥

6 hens in total

hens in the hut

8 hens in total
D hens in the hut

v
¢y

)

5 hens in total

“ |:| hens in the hut

Uvﬁg

4 hens in totfal
D hens in the hut

SUBTRACTION | SEE REASONING - K51
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Explain the mistake

/-4

3 ik hd

Spot the difference

?-3

?-3

IHE

55?QQM|M

ABALEEE

wag

SUBTRACTION

| SEE REASONING — KS1



Spot the pattern

7-5=

7-4=

/7-3=

Spot the pattern

SUBTRACTION

5-2=| |

6-3=

7-4=

s-[-[ |

What do you
nofice?

What do you
nofice?

| SEE REASONING - K51



DL ]

Odd one out
6-4= 7-4= 7-5=
6 | 7 7
4 [ 4 [ 5 7
Odd one out
11-7= 10-6 = 11-6=
11 10 11
/ ‘? 6 ? é ?

SUBTRACTION | SEE REASONING — K51
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| know... so...
8
-6=2 7 © 8.4=2
_5= I = 9.s8= ]
&
9
9.5=4 - - 9.5=4
9-4= — " | [-5=3
| know... sO...
12-7=5 < 12 . 12-7=5
12-8 = — Jo— |:|-:r=a
13-9=4 - 12 - 13.9=4
13-8= Z ? =7 14.9=

SUBTRACTION | SEE REASONING - K51



-

| know... so...
8
-6=2 7 © 8.4=2
_5= I = 9.s8= ]
&
9
9.5=4 - - 9.5=4
9-4= — " | [-5=3
| know... sO...
12-7=5 < 12 . 12-7=5
12-8 = — Jo— |:|-:r=a
13-9=4 - 12 - 13.9=4
13-8= Z ? =7 14.9=

SUBTRACTION | SEE REASONING - K51



Make 3
4 ? Ll
-+ > 3
- =3
Other ways:
- =3
- =3 - =3
Make 6
12 13
HEEEN HEEENR
. *-I Z > L Fi 2 >
é 7
12-6=6 13-7=6
1M-[ |[=6 14-[ =6
10 - =6 15 - =6

]
SUBTRACTION | SEE REASONING — K51



